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@ ab+1)+(b+1) =

(a+1)(b+1)

@ (x+y)?-2(x+y)+1=(x+y-1)?

@ F+dx+4-y>=(x+y+2)(x-y+2)

@ (x+2y)% - (3x—2y)% = —8x(x - 2y)

@ (x-3) +2(x-3) -

B

8= (x+1)(x-6)

® x-3=x 21 59
(x—3)2+2(x-3)-38

= X2 42X-8
X+4)(X-2)
(x-3+4)(x-3-2)
=(x+1)(x-5)
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© x-1 2)x-2 ® 2x-1
@ 3x-2 ® 2x-3
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3x2—10x+m = (3x—4)(x +k)
=3x2 + (Bk—4)x — 4k
3k—4=-10 A k= -2
—4k=mO|EE m=28
3x2—10x +8 = (3x—4)(x - 2)
wrebA] oHE Ql4= x— 2 ot
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4. -3<x<-29m, Va2 +6x+9-2Va2+dx+4+ Va2 & F3}

HY
O -2x-1 @)2x + 7 3 -1
@ 4x+7 ® 4x-1

D ‘
VE+3)2-2/x 2?2+ Va2

=|x+ 3| = 2|x+ 2| + |x]

=x+3+2x+4—x

=2x+7
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n-3<n+99B=2p-3=1
n=4,n>+6n-27=16+24-27=13




